Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

MACNEC019.T.0001 TAVOLA NR. 1 - ARTICOLO KABOBWM AMNAPAT KALEA PLUS 2ES3RM/Q (S75219)

& 4

Page 1 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Web Pos. Item Replace by Description

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

[ N ]

" 256254 UNIT HINGE

" 2 255029 SCREW M4X10

" 3 098166 WIRE-FIXING

" 4 0V2284 SCALER 24 VOLT

" 5 090021 RUBBER BUSHING 10.5 MM
" 6 256253 DOOR HINGE

" 7 258628 SELF-TAPPING SCREW. 4X15
" 3 259375 FASTENING CLIP

" 9 256256 DOOR HINGE PIN

10 255140 M4 HEXAGONAL INSERT

L AT 260462 DOOR ASSY. -WHITE-
w19 261714 DOOR ASSEMBLY -BLACK-
" 12 0V3126 MAGNET

3 261658 TOUCH SCREEN ASSEMBLY
w 260944 USB CAP

w 15 255034 PLAIN TIP SELF-TAPPING SCREW 4X12
16 255724 SELF-TAPPING SCREW 4X8
w q7 261327 CAP EVA-DTS

w48 988070 DOOR CONTACT SWITCH

Page 2 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=256254
https://uavending-ricambi.com/shopsearch?searchword=255029
https://uavending-ricambi.com/shopsearch?searchword=098166
https://uavending-ricambi.com/shopsearch?searchword=0V2284
https://uavending-ricambi.com/shopsearch?searchword=090021
https://uavending-ricambi.com/shopsearch?searchword=256253
https://uavending-ricambi.com/shopsearch?searchword=258628
https://uavending-ricambi.com/shopsearch?searchword=259375
https://uavending-ricambi.com/shopsearch?searchword=256256
https://uavending-ricambi.com/shopsearch?searchword=255140
https://uavending-ricambi.com/shopsearch?searchword=260462
https://uavending-ricambi.com/shopsearch?searchword=261714
https://uavending-ricambi.com/shopsearch?searchword=0V3126
https://uavending-ricambi.com/shopsearch?searchword=261658
https://uavending-ricambi.com/shopsearch?searchword=260944
https://uavending-ricambi.com/shopsearch?searchword=255034
https://uavending-ricambi.com/shopsearch?searchword=255724
https://uavending-ricambi.com/shopsearch?searchword=261327
https://uavending-ricambi.com/shopsearch?searchword=988070

Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

MACNEC019.T.0002 TAVOLA NR. 2 - ARTICOLO KABOBUIA AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

Web Pos. Item Replace by Description

Page 3 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

" 260457 LEFT SIDE

" 261706 LEFT SIDE

" 2 253290 4 FEETKIT

w 3 255267 CAP

w 4 251860 FEELER

" 5 255724 SELF-TAPPING SCREW 4X8

H ¢ 090020 WHIPPING MM 16

w 7 257546 CAP D.24

" 3 256163 CAP -BLACK-

® 9 0V4199 PLUG

w10 256255 FIXING PIN. CONTAINER/MOBILE PANEL
w19 261703 UNIT SIDE CAP

" 12 256252 REED SUPPORT FOR DOOR

w 3 258617 LOCK REINFORCEMENT PLATE
w 1 260452 INTERMEDIATE TOP-SHUTTER CA
w 15 256257 DECAF DOOR HINGE PIN

LT 256381 LATCH DOOR LOCK

w q7 256373 LOEK MERONI WITH LATCH
w18 252501 SCREW WITH COLLAR

19 091703 SELF-BLOCKING NUT M4

w2 253323 MAGNET

" 2 255140 M4 HEXAGONAL INSERT

" 2 261100 DISPENSING COMPARTMENT ASSEMBLY
w 23 255029 SCREW M4X10

w 4 0V3126 MAGNET

W 25 256289 BASIN SOLID COFFEE GROUNDS
B 2 0V3659 HANDLE

LY 252953 TOP MACHINE STOP PIN

W 28 256383 SPLASHGUARD LIQUID BASIN

B 29 256382 DRIP, TRAY

w 30 256372 LIQUID BASIN ASSEMBLED
w30 260461 LIQUID BASIN ASSEMBLED
w3 256259 LIQUID BASIN GRILLE

" 32 258849 DOOR MAGNET KEY ASSEMBLY
w 33 255734 CUP BLOCK

W 3 257341 CEILING UNIT 2ES+IN -BLACK-

w 3 260460 TOP ASS. 2ES+1IN -WHITE-

" 3 261657 TOP ASS. ES+2IN -WHITE-

W 35 256285 UNIT TOP SCREW CAP-BLACK-
® 35 260450 UNIT TOP SCREW CAP-WHITE-
w36 256284 DECAFFEINATED DOOR -BLACK-
W 36 260463 DECAFFEINATED DOOR -WHITE
w 37 255034 PLAIN TIP SELF-TAPPING SCREW 4X12
w 38 256343 WIRING TOP KARISMA

W 39 094989 SELF-STICKING FIXING

B 40 260449 UNIT SIDE CAP

w 1 255027 SELF-TAPPING SCREW 3,9X6,5
" 4 259630 TRANSPARENT HOSE D. 20X27 L. 200CM
W 43 256300 WASTE LIQUID BASIN

Page 4 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=260457
https://uavending-ricambi.com/shopsearch?searchword=261706
https://uavending-ricambi.com/shopsearch?searchword=253290
https://uavending-ricambi.com/shopsearch?searchword=255267
https://uavending-ricambi.com/shopsearch?searchword=251860
https://uavending-ricambi.com/shopsearch?searchword=255724
https://uavending-ricambi.com/shopsearch?searchword=090020
https://uavending-ricambi.com/shopsearch?searchword=257546
https://uavending-ricambi.com/shopsearch?searchword=256163
https://uavending-ricambi.com/shopsearch?searchword=0V4199
https://uavending-ricambi.com/shopsearch?searchword=256255
https://uavending-ricambi.com/shopsearch?searchword=261703
https://uavending-ricambi.com/shopsearch?searchword=256252
https://uavending-ricambi.com/shopsearch?searchword=258617
https://uavending-ricambi.com/shopsearch?searchword=260452
https://uavending-ricambi.com/shopsearch?searchword=256257
https://uavending-ricambi.com/shopsearch?searchword=256381
https://uavending-ricambi.com/shopsearch?searchword=256373
https://uavending-ricambi.com/shopsearch?searchword=252501
https://uavending-ricambi.com/shopsearch?searchword=091703
https://uavending-ricambi.com/shopsearch?searchword=253323
https://uavending-ricambi.com/shopsearch?searchword=255140
https://uavending-ricambi.com/shopsearch?searchword=261100
https://uavending-ricambi.com/shopsearch?searchword=255029
https://uavending-ricambi.com/shopsearch?searchword=0V3126
https://uavending-ricambi.com/shopsearch?searchword=256289
https://uavending-ricambi.com/shopsearch?searchword=0V3659
https://uavending-ricambi.com/shopsearch?searchword=252953
https://uavending-ricambi.com/shopsearch?searchword=256383
https://uavending-ricambi.com/shopsearch?searchword=256382
https://uavending-ricambi.com/shopsearch?searchword=256372
https://uavending-ricambi.com/shopsearch?searchword=260461
https://uavending-ricambi.com/shopsearch?searchword=256259
https://uavending-ricambi.com/shopsearch?searchword=258849
https://uavending-ricambi.com/shopsearch?searchword=255734
https://uavending-ricambi.com/shopsearch?searchword=257341
https://uavending-ricambi.com/shopsearch?searchword=260460
https://uavending-ricambi.com/shopsearch?searchword=261657
https://uavending-ricambi.com/shopsearch?searchword=256285
https://uavending-ricambi.com/shopsearch?searchword=260450
https://uavending-ricambi.com/shopsearch?searchword=256284
https://uavending-ricambi.com/shopsearch?searchword=260463
https://uavending-ricambi.com/shopsearch?searchword=255034
https://uavending-ricambi.com/shopsearch?searchword=256343
https://uavending-ricambi.com/shopsearch?searchword=094989
https://uavending-ricambi.com/shopsearch?searchword=260449
https://uavending-ricambi.com/shopsearch?searchword=255027
https://uavending-ricambi.com/shopsearch?searchword=259630
https://uavending-ricambi.com/shopsearch?searchword=256300

Model Machine

MACNEC019 KABOBWI AMAPAT KALEA PLUS 2ES3RM/Q (S75219)
 u 256294 GASKET LIP DE068
W 45 256295 GASKET LIP DE093
46 260456 RIGHT SIDE
46 261707 RIGHT SIDE
47 260458 UNIT BACK
LY 261705 UNIT BACK
48 256299 COUPLING WASTE
L= T 257998 OR 2037 9.25X1.78
® 50 255028 SELF-TAPPING SCREW 3,9X9,5
5 256897 FRONT PANEL POUR COMPARTMENT
E 5 256254 UNIT HINGE
W 53 261598 COFFEE PAD CHUTE

Page 5 out of 23


https://uavending-ricambi.com/shopsearch?searchword=256294
https://uavending-ricambi.com/shopsearch?searchword=256295
https://uavending-ricambi.com/shopsearch?searchword=260456
https://uavending-ricambi.com/shopsearch?searchword=261707
https://uavending-ricambi.com/shopsearch?searchword=260458
https://uavending-ricambi.com/shopsearch?searchword=261705
https://uavending-ricambi.com/shopsearch?searchword=256299
https://uavending-ricambi.com/shopsearch?searchword=257998
https://uavending-ricambi.com/shopsearch?searchword=255028
https://uavending-ricambi.com/shopsearch?searchword=256897
https://uavending-ricambi.com/shopsearch?searchword=256254
https://uavending-ricambi.com/shopsearch?searchword=261598

Model Machine
MACNEC019 KABOBWW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

MACNEC019.T.0003 TAVOLA NR. 3 - ARTICOLO KABOBUIA AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

21
@ 20

Web Pos. Item Replace by Description

Page 6 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

w1 260024 FAN 12V -5600 RPM-

" 2 256306 FLANGE FAN

w 3 260177 CYLINDRICAL CROSSHEAD SCREW-HFZ M3X45
oy 261097 MAIN WIRING

" 5 098600 CHOCK

w 252968 CABLE RETAINER

wE 7 097175 CARD SPACER

w s 0V3512 ELECTRICAL NET FILTER

w 9 251856 TERMINAL STRIP

E 10 255140 M4 HEXAGONAL INSERT

E 1 36170303 STAINLESS STEEL PHILLIPS SCREWPH M4X16
w12 252180 TWO-POLE SWITCH WITH LIGHT

E 13 254852 FUSE HOLDER

w 14 255028 SELF-TAPPING SCREW 3,9X9,5

w 15 090148 CLIP

E 16 097851 CABLE FASTENING

g7 095636 FUSE 15 A

¥ 13 985506 SUPPLY CABLE 3X1.5 -EUROPE-
w19 098166 WIRE-FIXING

E 20 0v2127 RUBBER BUSHING D.10

2 090021 RUBBER BUSHING 10.5 MM

" 2 261239 ACTUATION CARD

E 23 261238 POWER SUPPLY

" 2 261191 PAYMENT CARD

w 25 257543 SUPPORT CARD

E 2 261708 FRESH MILK IDENTIFICATION WIRING

Page 7 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=260024
https://uavending-ricambi.com/shopsearch?searchword=256306
https://uavending-ricambi.com/shopsearch?searchword=260177
https://uavending-ricambi.com/shopsearch?searchword=261097
https://uavending-ricambi.com/shopsearch?searchword=098600
https://uavending-ricambi.com/shopsearch?searchword=252968
https://uavending-ricambi.com/shopsearch?searchword=097175
https://uavending-ricambi.com/shopsearch?searchword=0V3512
https://uavending-ricambi.com/shopsearch?searchword=251856
https://uavending-ricambi.com/shopsearch?searchword=255140
https://uavending-ricambi.com/shopsearch?searchword=36170303
https://uavending-ricambi.com/shopsearch?searchword=252180
https://uavending-ricambi.com/shopsearch?searchword=254852
https://uavending-ricambi.com/shopsearch?searchword=255028
https://uavending-ricambi.com/shopsearch?searchword=090148
https://uavending-ricambi.com/shopsearch?searchword=097851
https://uavending-ricambi.com/shopsearch?searchword=095636
https://uavending-ricambi.com/shopsearch?searchword=985506
https://uavending-ricambi.com/shopsearch?searchword=098166
https://uavending-ricambi.com/shopsearch?searchword=0V2127
https://uavending-ricambi.com/shopsearch?searchword=090021
https://uavending-ricambi.com/shopsearch?searchword=261239
https://uavending-ricambi.com/shopsearch?searchword=261238
https://uavending-ricambi.com/shopsearch?searchword=261191
https://uavending-ricambi.com/shopsearch?searchword=257543
https://uavending-ricambi.com/shopsearch?searchword=261708

Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

MACNEC019.T.0004 TAVOLA NR. 4 - ARTICOLO KABOBUIA AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

42 30 6 27 87 1

/v‘/
8 f;r;“‘/; .y 39 11 10 38 E 87

10 91 29 ; I
s 2, S Qaa
\ S

4 \% ca¢ 36
89
17 ﬂ 30 \\
16 & 34
g
15 S~ s
16 d {
14 E; = L ™
. w9 33 i Jr] X T <Y:
3z & 176< 61 ) @ Yo 47
—Z /o <}> A g 63 f/fu}\ A 81
58 2 ‘w_\,:h\ N0 \ . 4.,
i 46 = j’d‘: U 69 L2 \ B P> \\\} 78
(r‘ w . RN~ 5 4
e q N
64 \l r\_,b 67 ,»,/ > 75

Tz ‘1;/jb‘ H =il 2) ) ot Kap. = 80
b1t o< @ \ N ] ¥ R g /> 2

N5 &
§H =
v f b
\ 1
AN & |
88 b 35— He
91 ﬂ 1 H/ — &j =3
30 34 30
42 26 16 37 81 44
- &l @ 1 30—
) (25 N, 0
O 21 %% 24 30 N w s2
= gy 7 33 K\ ) 9/ >
il 5 ;
w1 &) 30 > 2 &
5 i/ NN - g L
Cs z & K\* Q\ﬂ > '// (';,
' 31 & \\\f >
€ Cu ¢ e, ) =
| 4% 42 ¢ Laﬁ\ 56
o 42 70 1 44 49
) Z \ G \Cj W
R 5 5
51 28 29 23
Web Pos. Item Replace by Description

Page 8 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

w1 0V0782 O-RING 2025

" 2 261263 ADJUSTMENT COCK AIR

" 3 097512 SILICONE HOSE 6X12 BROWN

" 4 258887 6-1/8 ROTATING T-SHAPED JOINTWITH O-RING - LEAD-FREE -
" 5 261711 262464 2-WAY 2SOL.VAL. ASSEMBLY -PLASTIC-

" 6 261701 FITTING "Y" D.6 -FAST COUPLING-

" 7 261710 24V 3-WAY SOLENOID VALVE

" 3 256359 262801 2-WAY SOLENOID VALVE PARKER 24V

" 9 260533 BASE PLATE WITH 4 SOLENOID INSERT-FOR WAND-
10 093963 UNION Y-SHAPE DIAM 8 OUTER

11 097510 SILICONE HOSE 5X9 BROWN

w12 0V2058 BRACKET WATER CONNECTION

w 3 099458 TUBE FOR 2 THERMOSTAT

E 1 094597 COPPER WASHER

w 15 0V2129 THERMOSTAT 82 C

W 16 256631 PIPE CLAMP SNP7

w  q7 258901 6 BAR-F/M-1/8G SAFETY VALVE

LT 260656 PUMP

w19 261121 SOLENOID VALVE 3WAY 8W 24V

H 2 258815 PIPE CLAMP COLLAR

2 257344 SUPPORT PRESSURE SWITCH

" 2 257044 SOLENOID 24V WATER INLET

w 23 36170304 STAINLESS STEEL PHILLIPS SCREWPH M5X10
" 2 252561 WATER INLET ELECTROVALVE LID

w 25 261525 D.1.2 VOLUMETRIC COUNTER

W 2 256347 PRESSURE SWITCH H20 PRESENT 0,8BAR
LY 258914 D.7 QUICK COUPLING D.6 HOSE CONNECTION
w 28 259271 L-SHAPED ROTATING FITTING WITHO-RING 6-1/4 DEP.
w29 261526 PUMP

30 252658 TEFLON PIPE 3X6 (A METER)

3 261524 MOTOR FOR ROTARY PUMP

" 32 258886 D.6 STRAIGHT JOIUNT WITH O-RING - LEAD-FREE -
W 33 257047 FITTING STRAIGHT CYL. 6-1/8

E 4 260860 T-SHAPED FITTING D. 6-DOUBLE SEAL-

w 35 094231 UNION T-SHAPE

W 36 094329 HOSE CLIP

w 37 256377 SAFETY VALVE 12 BAR

w38 254565 SILICONE HOSE 5X9 -BLUE-

W 39 258779 CHECK VALVE

40 261254 HOSE LOCK ASSEMBLY

E 4 261654 HOSE HOLDER FITTING D. 0.9 MM

w4 256280 L ROTATING WITH OR 6-1/8 DELEADED

H 43 253698 PIPETTE D.4,5

E 4 257043 FITTING STRATGHT FEM. CYL. 6-1/8

W 45 261223 SEAL OR2037

B 46 257077 OR 2037-1.78X9.25

47 255029 SCREW M4X10

48 256369 WAND HOT WATER

L= T 260453 THERMOSTAT COVER

Page 9 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=0V0782
https://uavending-ricambi.com/shopsearch?searchword=261263
https://uavending-ricambi.com/shopsearch?searchword=097512
https://uavending-ricambi.com/shopsearch?searchword=258887
https://uavending-ricambi.com/shopsearch?searchword=261711
https://uavending-ricambi.com/shopsearch?searchword=261701
https://uavending-ricambi.com/shopsearch?searchword=261710
https://uavending-ricambi.com/shopsearch?searchword=256359
https://uavending-ricambi.com/shopsearch?searchword=260533
https://uavending-ricambi.com/shopsearch?searchword=093963
https://uavending-ricambi.com/shopsearch?searchword=097510
https://uavending-ricambi.com/shopsearch?searchword=0V2058
https://uavending-ricambi.com/shopsearch?searchword=099458
https://uavending-ricambi.com/shopsearch?searchword=094597
https://uavending-ricambi.com/shopsearch?searchword=0V2129
https://uavending-ricambi.com/shopsearch?searchword=256631
https://uavending-ricambi.com/shopsearch?searchword=258901
https://uavending-ricambi.com/shopsearch?searchword=260656
https://uavending-ricambi.com/shopsearch?searchword=261121
https://uavending-ricambi.com/shopsearch?searchword=258815
https://uavending-ricambi.com/shopsearch?searchword=257344
https://uavending-ricambi.com/shopsearch?searchword=257044
https://uavending-ricambi.com/shopsearch?searchword=36170304
https://uavending-ricambi.com/shopsearch?searchword=252561
https://uavending-ricambi.com/shopsearch?searchword=261525
https://uavending-ricambi.com/shopsearch?searchword=256347
https://uavending-ricambi.com/shopsearch?searchword=258914
https://uavending-ricambi.com/shopsearch?searchword=259271
https://uavending-ricambi.com/shopsearch?searchword=261526
https://uavending-ricambi.com/shopsearch?searchword=252658
https://uavending-ricambi.com/shopsearch?searchword=261524
https://uavending-ricambi.com/shopsearch?searchword=258886
https://uavending-ricambi.com/shopsearch?searchword=257047
https://uavending-ricambi.com/shopsearch?searchword=260860
https://uavending-ricambi.com/shopsearch?searchword=094231
https://uavending-ricambi.com/shopsearch?searchword=094329
https://uavending-ricambi.com/shopsearch?searchword=256377
https://uavending-ricambi.com/shopsearch?searchword=254565
https://uavending-ricambi.com/shopsearch?searchword=258779
https://uavending-ricambi.com/shopsearch?searchword=261254
https://uavending-ricambi.com/shopsearch?searchword=261654
https://uavending-ricambi.com/shopsearch?searchword=256280
https://uavending-ricambi.com/shopsearch?searchword=253698
https://uavending-ricambi.com/shopsearch?searchword=257043
https://uavending-ricambi.com/shopsearch?searchword=261223
https://uavending-ricambi.com/shopsearch?searchword=257077
https://uavending-ricambi.com/shopsearch?searchword=255029
https://uavending-ricambi.com/shopsearch?searchword=256369
https://uavending-ricambi.com/shopsearch?searchword=260453

Model Machine

MACNEC019 KABOBWMN ANAPAT KALEA PLUS 2ES3RM/Q (S75219)
B 50 256249 CAPILLARY THERMOSTAT LM8 140°C
w 5 261119 SNAP-ON EXTENSION D.6.-D.6.
w 5 098600 CHOCK
W 53 099058 NUCLEUS INSTANT-E.V.
W 5 261120 BOILER SHELF WIRING ES+STEAM
® 55 099059 VALVE-BUSH-GASKET
W 56 261709 THERMOSTAT 165°C
W 57 256368 ASSY. LEVEL PROBE 1/8GAS
® 58 258892 STEAM PROBE ASSEMBLY
® 5 258827 FASTENING CLIP
60 261758 RH AND LH INSULATOR ASSEMBLY
¢ 258874 2-WAY ELECTROVALVE SLEEVE W/ORING -VERS.24V-HIGH PERF.-
w 62 258915 39X5CM CLAMP
W 63 257106 COIL POWDER 10W
W 64 259107 2900W 230V BOILER ASSEMBLY
w 65 261712 STEAM BOILER ASSEMBLY 2900W
W 66 255571 COFFEE COIL
W 67 298093 COFFEE-ELECTROV. CONNECTION PIPE-HIGH PERFORMANCE-
= 68 298192 OR 2026 SEAL
69 097472 3-WAY ELECTROVALVE NUCLEUS -VITON-
E 70 099101 NO-RETURN VALVE
w 7 259402 COIL FASTENING NUT
" 72 261357 CAP ; STAINLESS STEEL
w 73 257077 OR 2037-1.78X9.25
W 261358 BOILER OUTLET UNION ; STAINLESS STEEL
w 75 255772 CONDUCTOR PLATE
W 76 259925 4 SOL.VALVE ASS. 2+2+2+3-WAY 24V+\WAND-STAINLESS STEEL
INSERT
w 77 260398 SCREW M4X35
w 73 A-0136 TOOTHED WASHER EXT. 4.3 DIN 6798
w 79 258904 6=1/8 L=SHAPED JOINT WITH O-RING
30 255248 TEMPERATURE PROBE
w g 094611 GASKET O-RING 2018
" g2 095529 RUBBER HOLDER UNION 1/8' (BRASS)
W g3 094594 GASKET O-RING 2031
W 84 257998 OR 2037 9.25X1.78
w g5 261713 ESPRESSO BOILER ASSEMBLY 2900W
W g6 254333 BOILER NOZZLE
" g7 253714 TRANSPARENT HOSE 4X8
w gs 260042 O-RING 1.5X5.5
W g 257048 T.FITTING CYL.DEP.VAP. 8442 61/8
90 257049 CAP FEM. 6 DEP.
w 9 261912 WATER INLET PIPE ASSEMBLY

Page 10 out of 23


https://uavending-ricambi.com/shopsearch?searchword=256249
https://uavending-ricambi.com/shopsearch?searchword=261119
https://uavending-ricambi.com/shopsearch?searchword=098600
https://uavending-ricambi.com/shopsearch?searchword=099058
https://uavending-ricambi.com/shopsearch?searchword=261120
https://uavending-ricambi.com/shopsearch?searchword=099059
https://uavending-ricambi.com/shopsearch?searchword=261709
https://uavending-ricambi.com/shopsearch?searchword=256368
https://uavending-ricambi.com/shopsearch?searchword=258892
https://uavending-ricambi.com/shopsearch?searchword=258827
https://uavending-ricambi.com/shopsearch?searchword=261758
https://uavending-ricambi.com/shopsearch?searchword=258874
https://uavending-ricambi.com/shopsearch?searchword=258915
https://uavending-ricambi.com/shopsearch?searchword=257106
https://uavending-ricambi.com/shopsearch?searchword=259107
https://uavending-ricambi.com/shopsearch?searchword=261712
https://uavending-ricambi.com/shopsearch?searchword=255571
https://uavending-ricambi.com/shopsearch?searchword=298093
https://uavending-ricambi.com/shopsearch?searchword=298192
https://uavending-ricambi.com/shopsearch?searchword=097472
https://uavending-ricambi.com/shopsearch?searchword=099101
https://uavending-ricambi.com/shopsearch?searchword=259402
https://uavending-ricambi.com/shopsearch?searchword=261357
https://uavending-ricambi.com/shopsearch?searchword=257077
https://uavending-ricambi.com/shopsearch?searchword=261358
https://uavending-ricambi.com/shopsearch?searchword=255772
https://uavending-ricambi.com/shopsearch?searchword=259925
https://uavending-ricambi.com/shopsearch?searchword=260398
https://uavending-ricambi.com/shopsearch?searchword=A-0136
https://uavending-ricambi.com/shopsearch?searchword=258904
https://uavending-ricambi.com/shopsearch?searchword=255248
https://uavending-ricambi.com/shopsearch?searchword=094611
https://uavending-ricambi.com/shopsearch?searchword=095529
https://uavending-ricambi.com/shopsearch?searchword=094594
https://uavending-ricambi.com/shopsearch?searchword=257998
https://uavending-ricambi.com/shopsearch?searchword=261713
https://uavending-ricambi.com/shopsearch?searchword=254333
https://uavending-ricambi.com/shopsearch?searchword=253714
https://uavending-ricambi.com/shopsearch?searchword=260042
https://uavending-ricambi.com/shopsearch?searchword=257048
https://uavending-ricambi.com/shopsearch?searchword=257049
https://uavending-ricambi.com/shopsearch?searchword=261912

Model Machine
MACNECO019

MACNECO019.T.0005

KABOBWW AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

TAVOLA NR. 5 - ARTICOLO KABOBUI AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

43 51 44 53

L)
44 51 43\\ |
3‘@

47
. % g
S f
' i "“‘/gf:b
S o)} = D 51 ﬂ ‘53[1 \E 49
5P 51 D 55— g 55— & 51 9 24
DY g 55 48
= 20 19 9
0o
66 . Z
o
8< 64 h%d‘\q éé 1
2 2 H
ey, Do S :
2o Ve 21
Sy 5 By,
\/j v

\® :':- ;l%Q\i—// 17
) S ] 7
¢ m)
\ ' .
54
11
5
A
. A
40
24 50 27 50
25 50—
!
38 29 45 9
37
50
32
\G 28
4
if P
25 (4

25 22 23 24 30

54 31 33 34

Web Pos. Item Replace by Description

Page 11 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

L 261656 ES BOILER ASSEMBLY 2900W

" 2 259107 2900W 230V BOILER ASSEMBLY

" 3 261357 CAP ;, STAINLESS STEEL

" 4 261358 BOILER OUTLET UNION ¢ STAINLESS STEEL

w 5 261254 HOSE LOCK ASSEMBLY

" 6 255772 CONDUCTOR PLATE

w7 255029 SCREW M4X10

" 3 259928 5 SOL.VALVE ASS. 2+2+2+2+3-WAY24V+WAND-STAINLESS STEEL
INSE

" 9 260398 SCREW M4X35

10 A-0136 TOOTHED WASHER EXT. 4.3 DIN 6798

L AT 257044 SOLENOID 24V WATER INLET

w 12 258904 6-1/8 L-SHAPED JOINT WITH O-RING

w 3 258827 FASTENING CLIP

1 255248 TEMPERATURE PROBE

w 15 257077 OR 2037-1.78X9.25

16 258915 39X5CM CLAMP

g7 261758 RH.AND LH INSULATOR ASSEMBLY

w18 094594 GASKET O-RING 2031

w19 095529 RUBBER HOLDER UNION 1/8' (BRASS)

2 261654 HOSE'HOLDER FITTING D. 0.9 MM

w2 094611 GASKET O-RING 2018

" 2 099101 NO-RETURN VALVE

w 23 0V0782 O-RING 2025

W 2 257043 FITTING STRATGHT FEM. CYL. 6-1/8

w 25 256280 L ROTATING WITH.OR 6-1/8 DELEADED

" 2 256377 SAFETY VALVE 12 BAR

" 27 260860 T-SHAPED FITTING D. 6-DOUBLE SEAL-

w28 256249 CAPILLARY. THERMOSTAT LM8 140°C

w29 098600 CHOCK

3 260453 THERMOSTAT COVER

w3 259271 L-SHAPED ROTATING FITTING WITHO-RING 6-1/4 DEP.

" 3 261524 MOTOR FOR ROTARY PUMP

® 33 261526 PUMP

" 3 36170304 STAINLESS STEEL PHILLIPS SCREWPH M5X10

w 35 252561 WATER INLET ELECTROVALVE LID

W 36 261525 D.1.2 VOLUMETRIC COUNTER

LY 257047 FITTING STRAIGHT CYL. 6-1/8

w 33 257344 SUPPORT PRESSURE SWITCH

w39 256347 PRESSURE SWITCH H20 PRESENT 0,8BAR

LT 261912 WATER INLET PIPE ASSEMBLY

" 4 253698 PIPETTE D.4,5

" 4 258815 PIPE CLAMP COLLAR

W 43 258779 CHECK VALVE

W u 093963 UNION Y-SHAPE DIAM 8 OUTER

W 45 257049 CAP FEM. 6 DEP.

B 46 260042 O-RING 1.5X5.5

" 47 261098 BOILER SHELF WIRING ES

48 256369 WAND HOT WATER

Page 12 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=261656
https://uavending-ricambi.com/shopsearch?searchword=259107
https://uavending-ricambi.com/shopsearch?searchword=261357
https://uavending-ricambi.com/shopsearch?searchword=261358
https://uavending-ricambi.com/shopsearch?searchword=261254
https://uavending-ricambi.com/shopsearch?searchword=255772
https://uavending-ricambi.com/shopsearch?searchword=255029
https://uavending-ricambi.com/shopsearch?searchword=259928
https://uavending-ricambi.com/shopsearch?searchword=260398
https://uavending-ricambi.com/shopsearch?searchword=A-0136
https://uavending-ricambi.com/shopsearch?searchword=257044
https://uavending-ricambi.com/shopsearch?searchword=258904
https://uavending-ricambi.com/shopsearch?searchword=258827
https://uavending-ricambi.com/shopsearch?searchword=255248
https://uavending-ricambi.com/shopsearch?searchword=257077
https://uavending-ricambi.com/shopsearch?searchword=258915
https://uavending-ricambi.com/shopsearch?searchword=261758
https://uavending-ricambi.com/shopsearch?searchword=094594
https://uavending-ricambi.com/shopsearch?searchword=095529
https://uavending-ricambi.com/shopsearch?searchword=261654
https://uavending-ricambi.com/shopsearch?searchword=094611
https://uavending-ricambi.com/shopsearch?searchword=099101
https://uavending-ricambi.com/shopsearch?searchword=0V0782
https://uavending-ricambi.com/shopsearch?searchword=257043
https://uavending-ricambi.com/shopsearch?searchword=256280
https://uavending-ricambi.com/shopsearch?searchword=256377
https://uavending-ricambi.com/shopsearch?searchword=260860
https://uavending-ricambi.com/shopsearch?searchword=256249
https://uavending-ricambi.com/shopsearch?searchword=098600
https://uavending-ricambi.com/shopsearch?searchword=260453
https://uavending-ricambi.com/shopsearch?searchword=259271
https://uavending-ricambi.com/shopsearch?searchword=261524
https://uavending-ricambi.com/shopsearch?searchword=261526
https://uavending-ricambi.com/shopsearch?searchword=36170304
https://uavending-ricambi.com/shopsearch?searchword=252561
https://uavending-ricambi.com/shopsearch?searchword=261525
https://uavending-ricambi.com/shopsearch?searchword=257047
https://uavending-ricambi.com/shopsearch?searchword=257344
https://uavending-ricambi.com/shopsearch?searchword=256347
https://uavending-ricambi.com/shopsearch?searchword=261912
https://uavending-ricambi.com/shopsearch?searchword=253698
https://uavending-ricambi.com/shopsearch?searchword=258815
https://uavending-ricambi.com/shopsearch?searchword=258779
https://uavending-ricambi.com/shopsearch?searchword=093963
https://uavending-ricambi.com/shopsearch?searchword=257049
https://uavending-ricambi.com/shopsearch?searchword=260042
https://uavending-ricambi.com/shopsearch?searchword=261098
https://uavending-ricambi.com/shopsearch?searchword=256369

Model Machine

MACNEC019 KABOBWW AMNAPAT KALEA PLUS 2ES3RM/Q (S75219)
E 49 258914 D.7 QUICK COUPLING D.6 HOSE CONNECTION
50 252658 TEFLON PIPE 3X6 (A METER)
5 097510 SILICONE HOSE 5X9 BROWN
E 5 094231 UNION T-SHAPE
W 53 254565 SILICONE HOSE 5X9 -BLUE-
5 261119 SNAP-ON EXTENSION D.6.-D.6.
w 55 094329 HOSE CLIP
LT 256631 PIPE CLAMP SNP7
¥ 57 260534 BASE PLATE WITH 5 SOLENOID INSERT-FOR WAND-
E 58 259402 COIL FASTENING NUT
E 59 255571 COFFEE COIL
E 60 298093 COFFEE-ELECTROV. CONNECTION PIPE-HIGH PERFORMANCE-
a4 298192 OR 2026 SEAL
E 62 097472 3-WAY ELECTROVALVE NUCLEUS -VITON-
E 63 257106 COIL POWDER 10W
¥ a4 258874 2-WAY ELECTROVALVE SLEEVE W/ORING -VERS.24V-HIGH PERF .-
E 65 099059 VALVE-BUSH-GASKET
E 66 099058 NUCLEUS INSTANT-E.V.
w 67 254333 BOILER NOZZLE
E 68 257998 OR 2037 9.25X1.78

Page 13 out of 23


https://uavending-ricambi.com/shopsearch?searchword=258914
https://uavending-ricambi.com/shopsearch?searchword=252658
https://uavending-ricambi.com/shopsearch?searchword=097510
https://uavending-ricambi.com/shopsearch?searchword=094231
https://uavending-ricambi.com/shopsearch?searchword=254565
https://uavending-ricambi.com/shopsearch?searchword=261119
https://uavending-ricambi.com/shopsearch?searchword=094329
https://uavending-ricambi.com/shopsearch?searchword=256631
https://uavending-ricambi.com/shopsearch?searchword=260534
https://uavending-ricambi.com/shopsearch?searchword=259402
https://uavending-ricambi.com/shopsearch?searchword=255571
https://uavending-ricambi.com/shopsearch?searchword=298093
https://uavending-ricambi.com/shopsearch?searchword=298192
https://uavending-ricambi.com/shopsearch?searchword=097472
https://uavending-ricambi.com/shopsearch?searchword=257106
https://uavending-ricambi.com/shopsearch?searchword=258874
https://uavending-ricambi.com/shopsearch?searchword=099059
https://uavending-ricambi.com/shopsearch?searchword=099058
https://uavending-ricambi.com/shopsearch?searchword=254333
https://uavending-ricambi.com/shopsearch?searchword=257998

Model Machine

MACNECO019

MACNECO019.T.0006

Web Pos.

Item

KABOBWW AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

TAVOLA NR. 6 - ARTICOLO KABOBUI AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

Replace by

85

104

H

sy

Description

40 75 64 62 63

52 50 72 54 51 53 106 &4 72

96
58
57
74
55
48

Page 14 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

" 256292 PROTECTION COFFEE CONTAINER
" 2 256291 BASE COFFEE CONTAINER

" 3 256148 COFFEE CONTAINER BODY

W 4 0V3126 MAGNET

" 5 256302 SHUTTER COFFEE

" 6 256301 LEVER SHUTTER MOVEMENT

" 7 256370 ASSEMBLY COFFEE CONTAINER
w 7 260464 COFFEE CONTAINER ASSY.

" 3 256258 POWDER CONTAINER PROTECTION
W 9 255034 PLAIN TIP SELF-TAPPING SCREW 4X12
w q0 252681 SPACER

w19 256304 PIN FOR TOOTHED WHEEL

" 12 255551 "CYLINDRICAL SCREW WITH HEXAGON M4X10 "
w43 09181004 NUT M4

w 1 259892 SPRING FASTENING PLATE

w 15 256261 BEATER SPRING

16 256150 SOLUBILES CONTAINER BODY

w q7 256293 INTERIOR POWDER CONTAINER
w18 0V2527 PINION

19 256307 SUPPORT POWDER. CONTAINER PINION
w2 256355 MOTOR DOSER POWDER 24V

" 2 0V2523 SHORT SCROLL L=10.7CM

" 2 257234 BLOCK POWDER CONTAINER

w 23 096868 SQUARE STRAIGHT PIPETTE

" 2 256303 LEVER POWDER CONTAINER LOGK
W 25 252662 GASKET O-RING 109-NSF-

B 2 0V2525 GEAR

LY 095936 WHEEL

W 28 256371 ASSEMBLY-POWDER CONTAINER
W 28 260465 POWDER CONTAINER ASSY.
w29 098808 MOTORMIXER

w30 099889 DISK

w3 258618 MIXER FLANGE

w 32 0V0776 O-RING 3125

w 33 0V0775 O-RING 106

W 3 097917 BUSH SEAL -EXCLUSIVE-

w 35 251869 MIXER FLANGE

w36 252931 SPOUT SUPPORT

w37 255493 SCREW M4X10

W 38 251852 DIAM. 3,4 MIXER NOZZLE

w39 256305 FLANGE SUCTION PIPE

40 256290 BASIN MIXER

4 298003 MIXER LOCKING RING NUT

4 251769 MIXER CONVEYOR

W 43 251874 MIXER CONVEYOR

W 4 256325 BOX EXTRACTION

W 45 251767 SUCTION TRAY COVER

46 252729 MIXER VENTILATOR -BLUE-

" 47 259848 CORRUGATED HOSE 17X21.2 -BLACK-

Page 15 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=256292
https://uavending-ricambi.com/shopsearch?searchword=256291
https://uavending-ricambi.com/shopsearch?searchword=256148
https://uavending-ricambi.com/shopsearch?searchword=0V3126
https://uavending-ricambi.com/shopsearch?searchword=256302
https://uavending-ricambi.com/shopsearch?searchword=256301
https://uavending-ricambi.com/shopsearch?searchword=256370
https://uavending-ricambi.com/shopsearch?searchword=260464
https://uavending-ricambi.com/shopsearch?searchword=256258
https://uavending-ricambi.com/shopsearch?searchword=255034
https://uavending-ricambi.com/shopsearch?searchword=252681
https://uavending-ricambi.com/shopsearch?searchword=256304
https://uavending-ricambi.com/shopsearch?searchword=255551
https://uavending-ricambi.com/shopsearch?searchword=09181004
https://uavending-ricambi.com/shopsearch?searchword=259892
https://uavending-ricambi.com/shopsearch?searchword=256261
https://uavending-ricambi.com/shopsearch?searchword=256150
https://uavending-ricambi.com/shopsearch?searchword=256293
https://uavending-ricambi.com/shopsearch?searchword=0V2527
https://uavending-ricambi.com/shopsearch?searchword=256307
https://uavending-ricambi.com/shopsearch?searchword=256355
https://uavending-ricambi.com/shopsearch?searchword=0V2523
https://uavending-ricambi.com/shopsearch?searchword=257234
https://uavending-ricambi.com/shopsearch?searchword=096868
https://uavending-ricambi.com/shopsearch?searchword=256303
https://uavending-ricambi.com/shopsearch?searchword=252662
https://uavending-ricambi.com/shopsearch?searchword=0V2525
https://uavending-ricambi.com/shopsearch?searchword=095936
https://uavending-ricambi.com/shopsearch?searchword=256371
https://uavending-ricambi.com/shopsearch?searchword=260465
https://uavending-ricambi.com/shopsearch?searchword=098808
https://uavending-ricambi.com/shopsearch?searchword=099889
https://uavending-ricambi.com/shopsearch?searchword=258618
https://uavending-ricambi.com/shopsearch?searchword=0V0776
https://uavending-ricambi.com/shopsearch?searchword=0V0775
https://uavending-ricambi.com/shopsearch?searchword=097917
https://uavending-ricambi.com/shopsearch?searchword=251869
https://uavending-ricambi.com/shopsearch?searchword=252931
https://uavending-ricambi.com/shopsearch?searchword=255493
https://uavending-ricambi.com/shopsearch?searchword=251852
https://uavending-ricambi.com/shopsearch?searchword=256305
https://uavending-ricambi.com/shopsearch?searchword=256290
https://uavending-ricambi.com/shopsearch?searchword=298003
https://uavending-ricambi.com/shopsearch?searchword=251769
https://uavending-ricambi.com/shopsearch?searchword=251874
https://uavending-ricambi.com/shopsearch?searchword=256325
https://uavending-ricambi.com/shopsearch?searchword=251767
https://uavending-ricambi.com/shopsearch?searchword=252729
https://uavending-ricambi.com/shopsearch?searchword=259848

Model Machine

MACNEC019 KABOBWMN ANAPAT KALEA PLUS 2ES3RM/Q (S75219)
B 48 259422 CORRUGATED WASHER
LT 260796 MOBILE NOZZLE COVER
LT 261702 NOZZLE COVER
® 50 256312 SUPPORT MOVABLE NOZZLES-2 ES-
w5 256262 COFFEE NOZZLE
w 5 255117 SOLUBLE POWDER NOZZLE
W 53 256315 DIVERTER COFFEE NOZZLE
W 5 094611 GASKET O-RING 2018
W 55 256335 GLASS PANEL FOR NOZZLE LED
W 56 256267 PIN MOVING NOZZLE CONTROL
W 57 260459 MOBILE NOZZLE COVER
w 57 261704 MOBILE NOZZLE COVER
& 58 256297 DISC CLUTCH
B 5 298064 BUMPER SPINDLE
W 60 986614 NUT FLANGED
61 256352 263243 BOARD NOZZLE LEDS NEW HORECA
W 62 253303 KNURLED NUT M4X35
63 093716 PLATE WASHER SELECTION OPENING
“ 64 260468 NOZZLE SHIM
W 65 261096 LEVER DRIVE PIN
66 260805 MOBILE NOZZLE INNER LEVER
" 67 36170303 STAINLESS STEEL PHILLIPS SCREWPH M4X16
W 68 256319 GUIDE SHOE MOVABLE NOZZLES
B 69 260806 MOBILE NOZZLE SUPPORT EXTENSION
® 70 255140 M4 HEXAGONAL INSERT
L 256802 LEVER MOBILE NOZZLES
" 72 256314 COFFEE NOZZLE WIDE
w 73 255724 SELF-TAPPING SCREW 4X8
" 9 255029 SCREW M4X10
W 75 256344 WIRING COMPARTMENT LED EXTENSION KARISMA
w76 257366 STEAMNOZZLE
w 77 257998 OR.2037.9.25X1.78
W 78 261178 MILK-AIR NOZZLE
" 79 257368 INTERNAL NOZZLE
30 257999 OR 117 13.1X2.62
g1 261177 CAPPUCCINO FOAMER ASSY.
" g2 256318 ECOVER EXPANSION TANK
w g3 261515 RAISE MILK FROTHER TRAY
w g 098939 ROUND STRAIGHT PIPETTE
W g5 257151 NOZZLE EAR PROTECTIONS
W g6 097502 NAMEPLATE GROUP CONTAINER INSTANT P
w g7 091703 SELF-BLOCKING NUT M4
W g8 260656 PUMP
W g 256149 COFFEE CONTAINER COVER
g 261246 COFFEE CONTAINER COVER
W 90 253714 TRANSPARENT HOSE 4X8
LAY 093963 UNION Y-SHAPE DIAM 8 OUTER
" 92 261121 SOLENOID VALVE 3WAY 8W 24V
W 93 252658 TEFLON PIPE 3X6 (A METER)
9 258914 D.7 QUICK COUPLING D.6 HOSE CONNECTION
W 95 261263 ADJUSTMENT COCK AIR

Page 16 out of 23


https://uavending-ricambi.com/shopsearch?searchword=259422
https://uavending-ricambi.com/shopsearch?searchword=260796
https://uavending-ricambi.com/shopsearch?searchword=261702
https://uavending-ricambi.com/shopsearch?searchword=256312
https://uavending-ricambi.com/shopsearch?searchword=256262
https://uavending-ricambi.com/shopsearch?searchword=255117
https://uavending-ricambi.com/shopsearch?searchword=256315
https://uavending-ricambi.com/shopsearch?searchword=094611
https://uavending-ricambi.com/shopsearch?searchword=256335
https://uavending-ricambi.com/shopsearch?searchword=256267
https://uavending-ricambi.com/shopsearch?searchword=260459
https://uavending-ricambi.com/shopsearch?searchword=261704
https://uavending-ricambi.com/shopsearch?searchword=256297
https://uavending-ricambi.com/shopsearch?searchword=298064
https://uavending-ricambi.com/shopsearch?searchword=986614
https://uavending-ricambi.com/shopsearch?searchword=256352
https://uavending-ricambi.com/shopsearch?searchword=253303
https://uavending-ricambi.com/shopsearch?searchword=093716
https://uavending-ricambi.com/shopsearch?searchword=260468
https://uavending-ricambi.com/shopsearch?searchword=261096
https://uavending-ricambi.com/shopsearch?searchword=260805
https://uavending-ricambi.com/shopsearch?searchword=36170303
https://uavending-ricambi.com/shopsearch?searchword=256319
https://uavending-ricambi.com/shopsearch?searchword=260806
https://uavending-ricambi.com/shopsearch?searchword=255140
https://uavending-ricambi.com/shopsearch?searchword=256802
https://uavending-ricambi.com/shopsearch?searchword=256314
https://uavending-ricambi.com/shopsearch?searchword=255724
https://uavending-ricambi.com/shopsearch?searchword=255029
https://uavending-ricambi.com/shopsearch?searchword=256344
https://uavending-ricambi.com/shopsearch?searchword=257366
https://uavending-ricambi.com/shopsearch?searchword=257998
https://uavending-ricambi.com/shopsearch?searchword=261178
https://uavending-ricambi.com/shopsearch?searchword=257368
https://uavending-ricambi.com/shopsearch?searchword=257999
https://uavending-ricambi.com/shopsearch?searchword=261177
https://uavending-ricambi.com/shopsearch?searchword=256318
https://uavending-ricambi.com/shopsearch?searchword=261515
https://uavending-ricambi.com/shopsearch?searchword=098939
https://uavending-ricambi.com/shopsearch?searchword=257151
https://uavending-ricambi.com/shopsearch?searchword=097502
https://uavending-ricambi.com/shopsearch?searchword=091703
https://uavending-ricambi.com/shopsearch?searchword=260656
https://uavending-ricambi.com/shopsearch?searchword=256149
https://uavending-ricambi.com/shopsearch?searchword=261246
https://uavending-ricambi.com/shopsearch?searchword=253714
https://uavending-ricambi.com/shopsearch?searchword=093963
https://uavending-ricambi.com/shopsearch?searchword=261121
https://uavending-ricambi.com/shopsearch?searchword=252658
https://uavending-ricambi.com/shopsearch?searchword=258914
https://uavending-ricambi.com/shopsearch?searchword=261263

Model Machine

MACNEC019 KABOBWW AMNAPAT KALEA PLUS 2ES3RM/Q (S75219)
96 261259 WASHER 9X24
w o7 096988 WASHER
E o3 259223 TOOTHED WASHER
E o9 261153 SCREW M4X20
® 100 261206 SINGLE CAPPUCCINO FOAMER TRAYD.6
101 256911 RH POWDER CONVEYOR
B 102 261655 SECOND MIXER ADAPTER WIRING
103 260455 FRESH BREW TILTED NOZZLE
® 104 097685 SILICONE HOSE BROWN 7,5X12
® 105 254565 SILICONE HOSE 5X9 -BLUE-
W 106 254566 SILICONE HOSE 3X6 -BLUE-

Page 17 out of 23


https://uavending-ricambi.com/shopsearch?searchword=261259
https://uavending-ricambi.com/shopsearch?searchword=096988
https://uavending-ricambi.com/shopsearch?searchword=259223
https://uavending-ricambi.com/shopsearch?searchword=261153
https://uavending-ricambi.com/shopsearch?searchword=261206
https://uavending-ricambi.com/shopsearch?searchword=256911
https://uavending-ricambi.com/shopsearch?searchword=261655
https://uavending-ricambi.com/shopsearch?searchword=260455
https://uavending-ricambi.com/shopsearch?searchword=097685
https://uavending-ricambi.com/shopsearch?searchword=254565
https://uavending-ricambi.com/shopsearch?searchword=254566

Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

MACNEC019.T.0007 TAVOLA NR. 7 - ARTICOLO KABOBUIA AMAPAT KALEA PLUS 2ES3RM/Q (S75219)

Web Pos. Item Replace by Description

Page 18 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

" 259801 GRINDER INTERFACE

" 2 259800 LOWERED UPPER GRINDER HOLDER
" 3 095805 GASKET O-RING

L 099472 LEFT SCREW

w 5 099471 SPRING

" 6 254469 GRINDER-16 BREAKING TEETH-
" 7 255033 SELF-TAPPING SCREW 4X10

" 3 255032 TREFOIL SCREW M4X10

w 9 096988 WASHER

10 298145 GRINDER-HOLDER FAN

L AT 298155 RADIAL BEARING

w12 093171 OUTER FIXING COLLAR DIAM MM6
w 3 256793 WASHER

¥ 14 099457 WASHER

w 15 099474 REGULATION SCREW

W 16 298168 2 GRINDERS CAP -2 COFFEE-

w q7 251778 FEELER BOARD

w 43 298151 PULLEY ASSEMBLY

w19 298143 SCREW M5X16

2 298147 REDUCER BODY

w 2 987628 EJOT-PT-SCREW 3X8

w 2 298152 BELT

w 23 298144 BELT SLIDE

L Y 261523 SINGLE CONVEYOR

w 25 258805 DOUBLE GRINDER PIN

W 2 099484 LITTLE RUBBER

L= Y 259657 BELT GRINDER MOTOR -CONNECTOR-
LT 260131 SCREW 4X30

W 2 255491 WASHER 4:3X12

30 257058 SCREW TSPC-H M3X6

" 3 260803 GRINDER ASSEMBLY"- MANUAL ADJUSTMENT -
" 32 251128 COFFEE DOSER-BODY

W 33 259664 DOSER SOLENOID -CONNECTOR-
W 3 093832 ROD PIVOT

w 35 258958 SOLENOID COVER

W 36 255047 SCREW M3X10 -INOX-

LY 253632 PLATE FOR COFFEE DOSER
w38 253639 DOSER ACTUATOR SUPPORT

W 39 253634 MICRO ACTUATOR SPRING
40 253635 MICRO ACTUATOR PIN

" 4 253638 MICRO-SWITCH ACTUATOR
w4 098822 PIN FOR LEVER

W 43 253637 LEVER FOR RULE

w 253636 SLIDER

W 45 098643 RULE COFFEE-DOSES

B 46 256073 SELF-TAPPING SCREW 2.2X9.5
" 47 098696 SPRING DOSER ELECTROMAGNET
48 254834 SIDE BATCHER LID

L= T 259660 MICRO -CONNECTOR-

Page 19 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=259801
https://uavending-ricambi.com/shopsearch?searchword=259800
https://uavending-ricambi.com/shopsearch?searchword=095805
https://uavending-ricambi.com/shopsearch?searchword=099472
https://uavending-ricambi.com/shopsearch?searchword=099471
https://uavending-ricambi.com/shopsearch?searchword=254469
https://uavending-ricambi.com/shopsearch?searchword=255033
https://uavending-ricambi.com/shopsearch?searchword=255032
https://uavending-ricambi.com/shopsearch?searchword=096988
https://uavending-ricambi.com/shopsearch?searchword=298145
https://uavending-ricambi.com/shopsearch?searchword=298155
https://uavending-ricambi.com/shopsearch?searchword=093171
https://uavending-ricambi.com/shopsearch?searchword=256793
https://uavending-ricambi.com/shopsearch?searchword=099457
https://uavending-ricambi.com/shopsearch?searchword=099474
https://uavending-ricambi.com/shopsearch?searchword=298168
https://uavending-ricambi.com/shopsearch?searchword=251778
https://uavending-ricambi.com/shopsearch?searchword=298151
https://uavending-ricambi.com/shopsearch?searchword=298143
https://uavending-ricambi.com/shopsearch?searchword=298147
https://uavending-ricambi.com/shopsearch?searchword=987628
https://uavending-ricambi.com/shopsearch?searchword=298152
https://uavending-ricambi.com/shopsearch?searchword=298144
https://uavending-ricambi.com/shopsearch?searchword=261523
https://uavending-ricambi.com/shopsearch?searchword=258805
https://uavending-ricambi.com/shopsearch?searchword=099484
https://uavending-ricambi.com/shopsearch?searchword=259657
https://uavending-ricambi.com/shopsearch?searchword=260131
https://uavending-ricambi.com/shopsearch?searchword=255491
https://uavending-ricambi.com/shopsearch?searchword=257058
https://uavending-ricambi.com/shopsearch?searchword=260803
https://uavending-ricambi.com/shopsearch?searchword=251128
https://uavending-ricambi.com/shopsearch?searchword=259664
https://uavending-ricambi.com/shopsearch?searchword=093832
https://uavending-ricambi.com/shopsearch?searchword=258958
https://uavending-ricambi.com/shopsearch?searchword=255047
https://uavending-ricambi.com/shopsearch?searchword=253632
https://uavending-ricambi.com/shopsearch?searchword=253639
https://uavending-ricambi.com/shopsearch?searchword=253634
https://uavending-ricambi.com/shopsearch?searchword=253635
https://uavending-ricambi.com/shopsearch?searchword=253638
https://uavending-ricambi.com/shopsearch?searchword=098822
https://uavending-ricambi.com/shopsearch?searchword=253637
https://uavending-ricambi.com/shopsearch?searchword=253636
https://uavending-ricambi.com/shopsearch?searchword=098643
https://uavending-ricambi.com/shopsearch?searchword=256073
https://uavending-ricambi.com/shopsearch?searchword=098696
https://uavending-ricambi.com/shopsearch?searchword=254834
https://uavending-ricambi.com/shopsearch?searchword=259660

Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)
5 261095 VARIABLE DOSER ASSEMBLY
w5 259662 GRINDER WIRING -CONNECTOR-
5 257157 EARTH WIRING GRINDER SHELF
E 53 256321 DECAFF CHUTE
5 255937 SCREW M4X14
® 55 260454 DOUBLE COFFEE CONVEYOR

Page 20 out of 23


https://uavending-ricambi.com/shopsearch?searchword=261095
https://uavending-ricambi.com/shopsearch?searchword=259662
https://uavending-ricambi.com/shopsearch?searchword=257157
https://uavending-ricambi.com/shopsearch?searchword=256321
https://uavending-ricambi.com/shopsearch?searchword=255937
https://uavending-ricambi.com/shopsearch?searchword=260454

Model Machine
MACNECO019

KABOBWUWU AMNAPAT KALEA PLUS 2ES3RM/Q (S75219)

>

>
-
N
Ly
N~
e
g
=
'
™
(2]
L
N
(23
2
-
o
<
w
3
=
<
o
<
c
<
=
=
[a1]
O
1]
<
x
(®]
-
o
1
=
14
<
©
14
=z
<
P
o
>
<
-

MACNECO019.T.0008

20?2 23 24 25 18

19 44

44 43 32

3 14 15 16 47

56

Description

Replace by

Item

Web Pos.

Page 21 out of 23



Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)

Press - CTRL + CLICK go to item in a new window
Haxmume - Ctrl + npasasi KHOMka MbIwU Ymo 6b1 OMKPbIMb 3an4acimb 8 HO8OM OKHe

i

[ N ]

" 256219 Z4000 GROUP CHAMBRE .43 HO.RE.CA.
" 2 098688 PISTON RETURN SPRING

" 3 255031 SELF-TAPPING SCREW 4,2X26

W 4 254666 PISTON ROD D.46

" 5 254669 BOTTOM D.46

" 6 0V0782 O-RING 2025

" 7 260351 INFUSION CHAMBER .43 HO.RE.CA.
" 3 254328 SCRAPER SPRING

" 9 254677 UPPER SCRAPER D.46

10 254673 PINION D.46

L AT 254675 LEFT CRANK D.46

w12 254654 GUIDE SLIDING BLOCK

w 3 096569 FIXING COLLAR DIAM 12

E 1 254655 UPPER PISTON KEY

w 15 254665 CONNECTING ROD D.46

W 16 099457 WASHER

w q7 298173 MICRO WITH WIRING

LT 259503 SCREW M4X12 -STAINLESS STEEL-
w19 256493 SCREW SELF-TAPPING 4X20
2 256231 TOP PISTON CROSSPIECE .43

w 2 254650 GASKET O-RING 1,9X2,4

w 2 094611 GASKET O-RING 2018

w 23 256232 TOP PISTON .43

L Y 256228 O-RING R26 3,60X35,60

w 25 256221 FILTER .40 M001.35 ITALFILTRI

W 2 254676 LOWER SCRAPER D.46

L= Y 254678 RH-LH SUPPORT D.46

LT 254795 COFFEE DISPENSING SPOUT

W 2 254674 RIGHT'CRANK.D .46

30 098818 STOPPING RING D.4

w3 254670 PISTON ROD GUIDE D.46

" 32 256222 CROSSPIECE REINFORCEMENT PLATE
W 33 256230 BOTTOM PISTON .43

W 3 256326 PLATE Z4000 NE KARISMA

w 35 253220 LEVER SPRING

W 36 254805 Z4000 D.46 GROUP COUPLER

w 37 254552 RATIOMOTOR 24V

w38 256387 FLANGE STEAM EXTRACTION

W 39 256410 REINFORCEMENT GROUP+SUCTION PLATE
40 255084 MICRO REFERENCE PIN

w 1 255937 SCREW M4X14

w4 259058 SELF-TAPPING SCREW 4X16

W 43 261474 M4X10 SCREW WITH SCREW LOCKER
w 255491 WASHER 4.3X12

W 45 254667 RETAINER WASHER

B 46 255140 M4 HEXAGONAL INSERT

47 255724 SELF-TAPPING SCREW 4X8
48 30448800 MICRO FASTENING PLATE 7100

L= T 256198 SCREW AF MP TCBC-H-TZ 4.5X12

Page 22 out of 23


''
https://uavending-ricambi.com/shopsearch?searchword=256219
https://uavending-ricambi.com/shopsearch?searchword=098688
https://uavending-ricambi.com/shopsearch?searchword=255031
https://uavending-ricambi.com/shopsearch?searchword=254666
https://uavending-ricambi.com/shopsearch?searchword=254669
https://uavending-ricambi.com/shopsearch?searchword=0V0782
https://uavending-ricambi.com/shopsearch?searchword=260351
https://uavending-ricambi.com/shopsearch?searchword=254328
https://uavending-ricambi.com/shopsearch?searchword=254677
https://uavending-ricambi.com/shopsearch?searchword=254673
https://uavending-ricambi.com/shopsearch?searchword=254675
https://uavending-ricambi.com/shopsearch?searchword=254654
https://uavending-ricambi.com/shopsearch?searchword=096569
https://uavending-ricambi.com/shopsearch?searchword=254655
https://uavending-ricambi.com/shopsearch?searchword=254665
https://uavending-ricambi.com/shopsearch?searchword=099457
https://uavending-ricambi.com/shopsearch?searchword=298173
https://uavending-ricambi.com/shopsearch?searchword=259503
https://uavending-ricambi.com/shopsearch?searchword=256493
https://uavending-ricambi.com/shopsearch?searchword=256231
https://uavending-ricambi.com/shopsearch?searchword=254650
https://uavending-ricambi.com/shopsearch?searchword=094611
https://uavending-ricambi.com/shopsearch?searchword=256232
https://uavending-ricambi.com/shopsearch?searchword=256228
https://uavending-ricambi.com/shopsearch?searchword=256221
https://uavending-ricambi.com/shopsearch?searchword=254676
https://uavending-ricambi.com/shopsearch?searchword=254678
https://uavending-ricambi.com/shopsearch?searchword=254795
https://uavending-ricambi.com/shopsearch?searchword=254674
https://uavending-ricambi.com/shopsearch?searchword=098818
https://uavending-ricambi.com/shopsearch?searchword=254670
https://uavending-ricambi.com/shopsearch?searchword=256222
https://uavending-ricambi.com/shopsearch?searchword=256230
https://uavending-ricambi.com/shopsearch?searchword=256326
https://uavending-ricambi.com/shopsearch?searchword=253220
https://uavending-ricambi.com/shopsearch?searchword=254805
https://uavending-ricambi.com/shopsearch?searchword=254552
https://uavending-ricambi.com/shopsearch?searchword=256387
https://uavending-ricambi.com/shopsearch?searchword=256410
https://uavending-ricambi.com/shopsearch?searchword=255084
https://uavending-ricambi.com/shopsearch?searchword=255937
https://uavending-ricambi.com/shopsearch?searchword=259058
https://uavending-ricambi.com/shopsearch?searchword=261474
https://uavending-ricambi.com/shopsearch?searchword=255491
https://uavending-ricambi.com/shopsearch?searchword=254667
https://uavending-ricambi.com/shopsearch?searchword=255140
https://uavending-ricambi.com/shopsearch?searchword=255724
https://uavending-ricambi.com/shopsearch?searchword=30448800
https://uavending-ricambi.com/shopsearch?searchword=256198

Model Machine

MACNECO019 KABOBUW ANAPAT KALEA PLUS 2ES3RM/Q (S75219)
5 259848 CORRUGATED HOSE 17X21.2 -BLACK-
w5 258628 SELF-TAPPING SCREW. 4X15
5 987628 EJOT-PT-SCREW 3X8
E 53 09004002 SCREW M2X12
5 255034 PLAIN TIP SELF-TAPPING SCREW 4X12
® 55 258818 ES. ASSEMBLY MOTOR COVER
56 255027 SELF-TAPPING SCREW 3,9X6,5

Page 23 out of 23


https://uavending-ricambi.com/shopsearch?searchword=259848
https://uavending-ricambi.com/shopsearch?searchword=258628
https://uavending-ricambi.com/shopsearch?searchword=987628
https://uavending-ricambi.com/shopsearch?searchword=09004002
https://uavending-ricambi.com/shopsearch?searchword=255034
https://uavending-ricambi.com/shopsearch?searchword=258818
https://uavending-ricambi.com/shopsearch?searchword=255027

